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. The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly
printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same 2as the Question Paper Booklet
code supplied to you.
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This booklet contains 200 Questions and candidates shall answer all of them in 180 minutes.

& Grypdo wEBiSS’ 200 g ST So00in eeggges DaRotst 180 Dmpred areoes rooSsB. ;
One mark will be awarded for every correct answer for post code 21 and half mark for post code 23.
There are no negative marks. ‘
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. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200),
(iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to the invigilator
and ask for replacement of booklet with same code within five minutes from the commencement of the test.
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Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.
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The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
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. Change of answer is NOT Allowed. - .
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» The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the

appropriate circle of (1), (2), (3) or (4) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as
it is not possible to change or erase once darkened.
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i nitted as the OMR Answer Sheet

$  Use of Eraser or White Fluid on the OMR Answer Sheet is not perT
is machine gradable and it may lead to wrong evaluation. e =S o
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T w8 B, ’
_ The OMR Answer Sheet will not be valued if the candidate:
w5 5,.Joub 2ared HF0R & BKD S8, 3% b pTre0dE0 .
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except 1n the space pr
for the purpose,
5,086 2w HE0D “rD0DI HBF0S! o€ H9SEBE Jowbo FV BB 25,8 @.‘?oc‘S'giSiéo,
(b) Writesany irrelevant matter including religious symbols, words, prayers or any communication what
so ever in any part of the OMR Answer Sheet, [
£.0e6 2w HB0D SoSHERI DT, ST, Hoden, FgRed 558 QS8 wHOLOFHD ddrrdo !
@‘:’oégé:&),
(c) Adopis any other malpractice.
déndotl 636135_6_5& F)BSD.
_ Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.
6K Frene*'8 dtnSodd ao@;ag H0E08S dm 2SS, $eb, 5708gBLE, aoLs;&)E THen, B8/l
enfen ©BoBREY.
. Rough work should be done only in the space provided in the Question Paper Booklet.
BaHigo e EBE5ES* Beron0odS HBF0S S 69 36, ARt s8R0,
. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
wesgd w80 HOF LReos's (HAT0DS Sud 0T 4550520 Sof S8 0%L% DodRE 5.
_ Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet. -
LIS 8% paRigo mEBéTe’éé.ro»oi):S HBFos* HEgBEER R0k, dodso BAESS8%. werd Ldowsd
aareodgo D ©gl Beronodd HATos* &S dodto Ao I8k,
. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls. .
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(To558 %0 500080 NG30D @dFoes* Sod¥o BosoSBH0. '
_ Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to return the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall
be taken away by the candidate and should be preserved till the declaration of results. :
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NOTE: If any ambif,uity rises in translations in any question, then the text/matter stated in English

version shall be” treated as final, since the Question Paper Booklet is pri i
viz. English / Telugu or English/ Urdu. P is printed in two languages
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3 Hours Marks : 200/100
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mark will be awarded for cvery correct answer for post code 21 and half mark for

st code 23. There are no negative marks.
4700085 ¢0

> §6 23 %o w8 76
ropriate answer
{ack Ball Point
the question

here is only one answer among the given four options. Choosc the most app
ons and darken, with Blue/B

:Om the given options to the following questi
en the corresponding digit (1), 2), (3) or (4) in the circle pertaining to
s}eparatcly provided to you-

humber concerned in the OMR Answer Sheet,
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correct sentence from the options given below. .

4

Choose the grammatically

(1) ~prefer coffee than tea.
You can travel on bus to reach Hy derabad.

3) 1 will meet you at the department.

ly learnt that my colleaguc is married with a c‘elcbrity chef. | 5

(4) Irecent
5| rlined phrase/idiom.

2.

g 3

3) Incorrect
:f e correct one-word substitute.

Choose the meaning of the unde
im, he is such a queer fish.

[ can’ttalk 1o h ,
(1) Handsome man Sensitive man
', (3) Strangf man , (4) Humble man
" 2 Chooscthe meaning of the underlined phrase/ idiom. '
| What you have just said is beside the mark. f
(1) Correct ‘(ng)/llb(/a&gcmted
rrelevant

Choos€ th
A pers who has just started learning.
(2) Foreman

, Appremicc
(3) Supervisor (4) Accomplice
Choose the meaning of the underlined phrase/idiom.
Wc on}y person to speak out against the decision of the college management.
1o state opinion frankly (2) tostate unconsciously
' thing incoherently

3) to remain silent (4) to state some
, Y B

e

A o
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6. Choose the correct active form of the sentence.

Many accidents are caused by rash driving.

(1) Rashdriving is caused many accidents.

(2) Rash driving was caused many accidents.
/(fa’)/l\/la;hly accidents caused by rash driving.

(4) Rashdriving causes many accidents.

El%g | ‘ . Booklet C(#e B

7. Choose the one which best expresses the given sentence in Passive Voice..

‘What amused her?’ ,
(1)  What she is made to amuse by? (2) By what s she being amused?
y what was she amused? (4) By what has she been amused?

8. Rearrange the jumbled phrases into a meaningful sentence. |

gotothe lady / herself with impeccable majesty and wisdom / who has conductld /

(1) (2) 3)

the credit must

4 . _
4,1,3,2 (2) 4,2,1,3

() 4,1,2,3 | 4) 3,4,1,2

9.  Choose the correct order of the jumbled phrases to make it a meaningful sentence. \
butI declined / in my company / to become the deputy manager /1 got the opportunity

JRNCE ) (3) (4)
23,2, 1 @ 3,2,1,4
3) 4,2,1,3 (4) 2,1,3,4 ‘

10. Choose the correct form of the verb.
We in Sri Lanka last year this time. :

(1) arc @) had 3) did 4 were

11. Fillin the blanks with suitable article(s).
English is the language of English.

(1) An,the /(SQ/ The, no article }}K The, the m article, th

12. Choose the correct set of Prepositions.
Itis very hot the day but quite cold night.

W

LT o5

(1) inin 2) at,in (3) atat 47 in, at
13. Fillin the blank with an appropriate Verb Form.
When I went to meet him, he in his garden.
W (2) isworking
was working (4) hasbeen working
\,
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14, ‘(zll‘lhoeoiflogllzrcorrCft }_)as.sivc f(?rm of the sentence..
/Hmo ;Zrc ?mldmg abi g.sho}?pmg complex.”
g shopping complex is built by the workers.
(2) Abigshopping complex was being built by the workers.
(3) Abigshopping complex were built by the workers.
(4) Abigshopping complex is béing built by the workers.

15. Choose the grammatically correct sentence.
(1) He wanted to know that when would classes began.
—2) He wanted to know when classes would begin.
(3) He wanted to know when classes will begin.
(4) He wanted to knew when classes would began. '

16. Choose the appropriate phrasal verb.
The citizens must their rights.
(1) stand against ' (2) stand apart

(3) stand back //(M/Sta’n’d' up for

Read the passage carefully and answer the questions from 17 to 21 that follow :

Books are by far, the most lasting product of human effort. Temples crumble into ruins, pictures
and statues decay, but books survive. Time does not destroy the great thoughts coritained in the
books which are as fresh today as when they first passed through their author’s mind. These
thoughts speak to us through the printed page. The only effect of time has been to throw out of
currency the bad prp/dggt/s_amggg_bppks: Nothing in literature which is not good can live for
long. Good books have always helped man in various spheres of life. No wonder that the world

keeps its books with great care. 7

17. Time does not destroy books which contain

—————

(1) useful material ' (2) subject matter for education
_(3) great ideas (4) bad products
18. “To throw-out of currency’ means to Wi \
/(/rf/l)oe)::oy (2) Extinguish
(3) Forget (4) Putoutofuse

19. The world keeps its books with care because __ '
(1) They replace technological gadgets.

(2) Theydo not bring great ideas to us.
zm)}/’ help us in various spheres of life.

(4) They make us feel exhausted.

A s
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20. Of'the products of human effort, books are the most ‘
(1) insignificant m '
(3) temporary (4) dangerous

21. Choose a suitable title for the passage.
(1) Value of Temples (2) Value of Statues

(3) Distribution of Books WBopks

22. Choose the word which is nearest in meaning to the underlined word in the sentence.

The speech was intended to pacify the angry mob. _
(1) soothe &/(%j}ting-}%;g (3) incite - (4) terrorise

23.  Choose the word which is similar in meaning to the underlined word.
She speaks good English without any affectation.
(1) Confidence (2) Pretentiousness
(3) Genuineness (4) Simplicity

24.  Choose the word which is opposité in medning to the underlined word/phrase.
The insurance company rejected the spurious claim made by the automobile firm.

(1) false (2) fabricated (3) overinvoiced {4y genuine

25.  Choose the antonym of the underlined word from the given alternatives.
The Martians in “The War of Worlds” survived every military weapon known to man but
succumbed to the common cold.
(1) Surrendered (2) Givenup (3) Overcame (4) Yielded

26. Choose the correct spelling of the word. o
(1) Abbrreviation (2) Abrreviation  (3) Abbrevieation - (4) Abbreviation

1
|
‘5

27.  Choose the correctly spelt word.

(1) Weired (2) Pronounciation (3) Neccessary mon
28.  Choose an appropriate preposition from the options and fill in the blank in the folld\ving
sentence.
The boss has been ill flu this week.
(1) from (2) with’ M (4) of

29.  Choose an appropriate set of prepositions.
I am acquainted the latest developments this situation.
(1) of, with (2) off, above m (4) about, off

30.  Choose the grammatically correct sentence from the options given below.

(1) He go not want to continue his studies.

y/(Tne of my friends have gone to Chennai yesterday.
(3) Neither of the participants was able to win a decisive Victory,

(4) They does not listen to us.

A | on T
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31. :}gRs. 40,000 amounts to Rs. 69,120 in n years at 20% rate of interest compoundcd annually.
enn= ,
40,000 ErrcHoss d 20% d@éé’éé&oé‘ Ke3008Dy% n cooéea“)l}"o@‘ 69,120 &
S0EI8, wdYed n = /
(1) 5 2) 4 4}»3/ (4) 2
32.

If the solution of the simultaneous linear equations 2x -3y + 4 = 0and3x 2y-4=0isx=a
and y = b, then
2x=3y+4=0250050 3x -2y -4 =0 o3 350598 DEdrd :oi’)aédes'o @0y, AGS
X=aN0osn y=bh wond, BBV

37 2a=b ,(4) a+b=0

(1) a=b (2) a=2b
If the simultancous linear equations 3x + 2y—5=0and kx-2y+7 =0 have no solution,
then

3x+2y—5=050050 kx =2y + 7 = 0 03 $505°0% QEDrS :oi’)oédea‘o& é‘déaéaé

c_ooajcb ’
() Tk~ =3 ,ei\( k=3 (3) k=-3 @) k=-2

A girl has only 5 rupee coins and 10 rupee coins in her kiddy bank. If there are 40 coins all
together in the bank amounting to Rs. 260, then the number of S rupee coins in it is

0 wiron @wE), §Gurgofdt 5 drdrobe H0c 10 drdrobe F@Bes SrEd
G T)oN. & wrgofst vr) 98 40 TRBod wod HodoSn T8 Ingo Z)ooé
260 SrdrcHoond, vdyd TS 5 Erdrow B dopg

(1) 12 (2) 14 (3) 26 8 %,0

35.

_(1)—363

¥ L WAY Ay
31 of 13+17—19><:(%‘J 29-6= %—(%

2) 397 (3) 1023 (4) 693

36.

)

. : 13 \p
In an arithmetic progression, if the third term is 13 and the fifth term is 23, then the sum / \
its first 35 termsis__ o - \ ©,

X

5 =, S
o8 woEASY Sordddso 13 &’)J&o:foo a'JcS&’)a)cSo 23 wond, wiyd TR B0oY), EbacSéS

35 dore ogo
@ 4473080

—_—

1540

K i

~
(1) 6160
In a geometric progression, if the first term is 5, common ratio is 3 and the sum of the first

(3) 4610
n terms is 1820, then n =
L€ HEES'D IndBSC0 3, STEsn 3 Sopake IS n dore Iodo 1820

wo0d, ey n = /g)/7

(1) 6 (3) 8

(2) 3

!\llllll\HIIIHNIIIIHIHlIIHlIIHIII%*D/ Y f;/r

(RS
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38. Iftwo dice are lhrown simultaneously, then the probability of getting a prime number on
one die and a composite number on the other die is
B é aw& Q&5 065" MEANOE) OOV 2.8 :b"i)é’a BFS dopg ;’Daom 536"3' 3":‘D§7>3

a QDOodSNE Jogls T SEAE Ko cooa,régé
5 I 2 1 1
M) 3 @ 3 B -4 3

39. Ifacard is drawn at random from a pack of 52 playing cards, then the probability of getting
a face card is ' ‘l

52708 S en fo ol %K EQ08 2.8 DE S SreyR)gorr @oéaj@b

| YV/ﬂ) SOAS DE 5085 FoSEE Ko :ooe.r:ésé | i
o 1 | 2 4
| W Lers ¢ = @ 3

40. There are 32 marbles in an urn, in which some are red and the rest are green. Ifa marble is

drawn at random from the urn and the probability that it is red is —3, then the number of

- green marbles in the urn is .
8 S o 32 oS! £ JEID, WHOSD HHHID. & ME Hod of KO

T B> EYNEo BRIV, ©8 2w B § 5708 Ko Do Sges % ©o0E, OBYE &

TESD BHIH M9 Sopg
(1) 24 (2) 18 —) '. “4) 12

/. The fourtecnth term in the series 1, 4, 9, 4, 10, 18,7, 16, 27, 10, 22,36,13, ...is
I 0 18, 7,18 27, 10, 22,36, 1 1,3,...@755556‘&) BE0S Do

) 22 @ 24 3)) 36 = 4) 28
42. Thc sixth term in the series 3, 4, 10, 33,136, . ‘
| f\\ﬂ N3 410083, 136, .. desetn wos a0 '
e l.viqfn)s:;s @ 272 ¢ (3) 408 4) 544

(M A}T The term which is wrongly entered in the series 2, 3, 5,7,8,11,11, 15,17, 19, 17, 23,20, ...
_L”h( IS

(1) 11" term | | @) 9" term '
3) 7™ term (@) 13" term |

L3581, 15, (719, 17,23,20, ... o3 @e3c* 839 330t 5088 B0

(1) 113 360 ‘ /(’2‘)"_93—;3650

(3) 75 50 (4) 133 H%0

LT .5 |
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44. The seventh tcnné;}flhc series 2,3, 6, 15,42, ... is s 'Y
f3 ?}"51 42 &3 Gy 6D S50 - /
(1) 169 (2) 166 (3) 369 ,/ 6
/
45. Ihg mlssmg term in the series CAB, EFE, GKH, , KUN, VI/ZQ is

CAB; r 'E,GRH, 10 | KUN, MZQ =3 g6 6005 56

A1 2 1K _(IPK M

46. Iftheletter series AI{ ABA-BABB - BAABA - BA with 4 blank spaces follows a certain
@ pattern, then the correct option which contains all the missing lcttcrs to be placed in the
%‘ 2 h\ fl4 blank S{zccs in that ordcr to completc the pattern is /

gp( DAB LABA~ BABB BA ADBA o7 .8 203 SSra wkstod wEds oot
:3'(3'

00 oB & oa(b 79 FT ol Food viToH o 0" L9 wod,

> rﬁms'.fn :ooqy o o} QLM &) «)B&oé ai’)aéo .
&@\fgﬁ (1) BAAB (2) AABB (3) ABBA 47 BBAA
47. 1f72C, W4F, T7I, QI2L, is the given series, then the correct option which fills the
blank space to contmuc the series is
/2C W4 T7I Q12L o030 SE@3 wond, ©¥ FB FITRoITIE TP s"éoé)
gg" S’ g M —

th M18N M% (3) N20P k), mioP

48. /l/n a certain code language, if the word ‘VOLUME? is coded as “WRQBVP’, then in that
code language, the word ¢ ‘AREAS’ is coded as
2§ DR SEEaS® ‘VOLUMF’ o3 5 ‘WRQBVP' 86 %, & F5eriis’ AﬁEAS’

o3 S0k 86 ETEM G AN EEANN
() BuBH [ }é/" e Ny Bums \@) BHGA&UJ
49. Ina certain code language, if the word ‘BUILDING’ is coded as ‘UBLIIDGN’, then in that

language ‘EMETARLI’ is the code for
u§ JPY E'6rAS’ ‘BUILDING’ o3 somd) ‘UBLIIDGN. e §'6 {'3 eg;’:j@ & ras*

: ‘EYIETARLI v §'6 570858,
g% (1) METERIAL  (2) SMATERIEL 3)- &LADAIERIAL m

% In a certain code language, if the word “WATER’ is coded as ‘68’ and the word ‘TEA’ is
coded as ¢55°, then in the same language, the word ‘LIQUID’ is coded as
j,g w8 Q é S PR ‘WATER’ &3 dd0 ‘68’ m S0Bdodw TEA’ o3 H&0 55 56 5738,
1Y
Lo

" S
038 erest ‘LIQUID’ o8 Ho 308, 4] . £ 9
= ese 119 3“)(2) 88 () 89 L §4) 86 1)
' u\J

1T I (TG
| 53 CHa
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Aman travels 2 km in the direction of North. Then he takes left turn and travels 2 klz. l:\fl::r
that he again turns left and travels 4 km. Later he takes again left 1‘u_rn an.d travcfls . m to
reach his destination. Then the direction of the destination from his starting point 1S

(1) South\-\Wcst (2) South-East

(3) South \ (4) North

2§ 558 SEEOIT 2 8.5 BorSm. ShTE ik % IHE Soevd ERED,
2 8.20. HoIredindo. w8 Stad $08) dSHo YK Hendy D 4 8.5, HosreBb.
& S0TE ) 0FFD G JHKH Devd RED 4 8.2, Hosr3od ES-KSog PR
Beosootrth. ity w82 (FCoryso 0b Kgrso FHE fo B

(1) 308 | 2 shjaho

(3) &80 _ (4) &gdo

51.
2
|
52.

A man is standing on a platform facing East. He turns 30° in the anti-clockwise direction

first and then turns 120° in the clockwise direction. Later if he turns 315° in the anti-

clockwise direction, then the direction he is facing now is

(1) South-East (2) . North-East

(3) South-West (4) North-West

wg 558 3&5}3 SrE0)8 :é:{)éooa)éwn‘ QODRBNT)ER. B8 I @3’33’)?65
(anti-clockwisc) 8¥S® 30° e Srend 80h, & s 98¢ (clockwise) &¥e* 120° ex
ey 8&HKed. & SHard o8t ©d35g (anti-clockwise) 8¥S* 315° en Soen
80038, adyds w38 WINPT &K BF

(1) edyc%o (2) &wdg0

M 4) T asnSgo

3 )8

LT

A boy moved 1 km towards West from his initial position. Then he took a right turn and
moved 2 km. Later he turned left and moved 3 km. Further he took a left turn and moved
5> km toreach a point P. If there is a straight path from the point P to his starting point, then
the distance (in km.) he has to still move on that strai ght path to reach the starting point is
w8 Trondy wdd &0 o H0d HESE BFT 1 8.5 ITyo. SHT S HHAJHK 8dA
2 8.20. S0080% STHE. & EHTE IEDIHSK 86A 3 8.2, Jepdd. 8 SHTS wSK
D0 IEHIHIE 808 P 0B Do BOESEE 5 8.5, Sy, Doy P Ho0d
() FOPITAE 85I o6 o, 5"9%"‘3‘3& BEE S8 e 8 T8S* Qo¥Sr VS
RoSredosSons Erssn (8.5 .06

(1) V13 2) Va1 K

(3) 4 M S” g' :
\® \//UL%QL*

Lo A3 -

10-B
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If Ais the father of B, C is the mother of D and B is the brother of C, then A is related to D as
(1) Grandfather (2) Uncle /
(3) Father-in-law - (4) Brother /
B 6308, 30@ A, D @08, 39 C 5005w C &), 66t B wand, D§ A &8 o towoto
M es (2) 38 Bor Sod BB
By Do (4) FE8% /
55. IfA+BmecansAisthe husband of B, A—B means A is the wife ofB,A/x B means A is the son

of B and A + B means A is the daughter of B, then in view of this dotation, the expression
P +Q+R =S xT leads to the relation.

(1) PisthesonofR (2) Qisthegrand Aau'ghlcr of T

(3) Risthedaughterof T (4) Sis the father of P

A+Bwodl B@»), F6 A, A-Bwod Bang), ordg A, AxBwod Bang), Sdrdd A

50050 A+ B wodl B @wng), 5573 Awond, & 9088 5g8 Syxg P+Q+R-SxTwd
— [A] /

JBrH0 SHod .5:5 Dowodso.

(1) R a8, Sosrdodo PO /(/z-)ﬁwgb Bossore Q
(3) T &8, K503 1{72\ (4) P @0y S0 S\

56.

A family consists of 6 members A, B, C.D, E and F. There are two married couples in them.
Disthe son of A; B is the grand daughter of E; Cis the father of D; D is the brother of B and

F is the brother-in-law of D. Then B is related to A as

(1) Sister (2) Nicce .
(3) Daughter (4) Daughter-in-law , /_\)
L& Gotoowo A. B, C. D, E Sodco F o 6 fod 950508 §00 ¢ob. 370¢" ot DTins

Bobeod)o. A ¥, H3r&d D; E &), Sod507e0 B; D Goo%), Soé C;B o‘:boég

M D $odcsn D @wg, o Fodyd A8 B& Ao %020650 roC
(1) &0 (2) RFSEHIFED SSTY b a

(3) & | (@) §E o=

&l

Ina groﬁp of 10 people, if every person shakes hand with every other person in the group

exactly once, then the total number of hand shakes that take place is

10 S00 Sg¥een &) w8 HBorrod (H8SgE, VSrToS W8 1dd $5g88°%0 o8

LED ESTrodo By, wdYd HogdBocg Ingo EETOTO Jopg
(1) 90 (2) 20
(3) 10

A 1B
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58. A sentence which is either true or false always but not both is called a mathcmatjcally
acceptable statement. Then among the following, the statement that is mathematically
acceptable is
(1) Mathematics is an interesting subject
(2)  The sum of two prime numbers is even
3) It rainstomorrow
(4) The capital of India is Mumbaj )
w8 TEgo QoL Sdgsn B SHEIRNUITRESS Boégjgg‘ﬁjggiéoqaﬁ %08, T
A8 &) 50 u3ra050asS 28 3330 woird. VIY, §od TéSes*, federd)gor
GAFBOBENS B53550

iy, Vot

“ 387 8o 988638 dairoto
(2) Bods B8 Bopge Aot wE v6 K)ozp&\ =)
—N Y Bdo sesigon, 3‘8—'
(4) " wrosdto @y caga S2008..

39. If ‘a’ means =0 'b" means ‘x': ‘¢! means ‘=" and ‘d’ means ‘+’, then the value of
13(135h7c911113i$ :
‘a’ wodd ‘+': ‘b’ wodl X't wod =" S0k ‘d’ o8 ‘+’ wond, 13 d 35 b7¢91al3
o3;0§z, RISV
(1) 48 (2) 329

(3) 142 (4) 251

60. At a particular instant, a person A observes his friend B, who is moving at a speed of
60 m/min away from A, at a distance of 120 m from him. IfA starts chasing B immcdiatcly
with a speed of 90 m/min. then the distance (in mts) to be covered by A to meet B js
&8 Q9N Emoest, A o 388, 88 2008 Erdormr D508 60 Boie Jo&* FOHY) wad
DEOE B 65 008 120 e Sr&oest GTYED AS0doT . Ko Q08
90 e I50s* B AT.SoaJé'Eg, f-séjcéa B :‘Qéeég‘&)é A DaSre8ouSeds &r8o ~(ib¢39:g5*)
(1) 360 (2) 240

<3)—480~ (4) 180

61.  The distance between two cities A and B is 270 km. Car M starts from A at the speed of
80 kmph and car H starts from B at the speed of 100 kmph at the same time. If they are
moving towards each other, then the time (in hrs) required for these cars to meet each other is
A 50005 B o3 G0t diare Satsg dindo 270 &.hies. fobsss 80 8.20.0 Jrios* M w3
S A $08, fotsss 100 85010 Boa Hed 56 Bood 0 HSousot acsordoran,
0D 08 TIDIH DEES Boiresdiigod, o 5 2.5TRTES SO5T8 HE Hoodo (Hobwe?)
(1) 1 1.5
(3) 2 4) 0.5 |

-~

T s
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62. A person A travelled g certain distance in 5 hr and 30 min. He travelled two-thirds of this

distance by a train at g speed of 60 kmph o kT
A phand the remaining distance b ; at acnpad nf
45 kmph. Then the total distance (inkm) travelled by Aiis ce by abus at a speed of

A vl 558 §od CS?O‘KD 5 Koo 30 duees®
G0 B00 Ero)) fiotss 60 8.5 © Fios* et oo moAsts 005 DNOS rowd)
flotot> 458.20.0 Briod* 2.8 avtinyes'iss S, wand A [Boreons Bodo drtsn (8.5.06¢)
(1) 396 (2) 216 W @) 307
I)ircctions. for questions from 63 to 65 : In each of the following questions from 63 to 65, a’
statement is given followcd by two conclusions numbered Tand II. You have to decide which of
the conclusion(s) follow(s) from the given statement.
Give your answer as
(1), if only conclusion | follows;
(2), if only conclusion II follows:
(3), if neither conclusion I nor 11 follows;
(4), if' both conclusions I and 11 follow.
63 S086 65 S5 Ko WHOKH Srddeo: Bod oSBS 63 Sood 65 565 Ko RHos
BOOAS wE 6 BI3FS0, oD Towd (I) 50cn (1) oF Lrdodnd Dok ©% s
(conclusions) dsamon. && B350 %08 HBS* D woDod(en) ©5008906" (0KHOIET)
D AYoTO, >
WS | Sr@d wHdoh, D Ssrgdo (1) vd; e
0S8 Il Sm@d ©Hd0R, & v3rado (2) vd;
wHREH 1, Il 06 Db ed0osEd, b d3rgso (3) wh; ¥ R
OHDH 1, 11 e Dods sisdh, D S350 (4) wd owsgod. A —
63. Statement : Teaching is the profession that shapes all professionals.
Conclusions : 1) Without a teacher, there will be no Doctor, no Engineer, no Lawyer
and even no Teacher. L
II) Now adays some teachers are not doing justice to their profession.
B3SS0 1 S'GS ©F0 IYoodd Erobod )3
vl 1 ) adggesnd S, Scogcd ™R, 2028 M), TgoHI"d M
S0d& S00aSn GFITHOSNE Era dodid.
II) & Sggs 0o’ Fod $008 Grargrgaines d 988 Trgaho dokdo

S&o.

ia’ i inly on forests.
64. Statement : India’s economy is dependent mainly -
Conclusions: 1)  Maintenance of forests alone improves Indian economy.
' II) Forests should be preserved to improve the Indian economy.
W3SSo rOSDY wdE S558 HFSom wdPop GFESE Bolvod.
oo : ) BSeo wdPHe AT SrEI g dE3Y wys SISO

Boorr5:5300.
) orosds ugs Sg5gs DOMICTTE vaHoso Hosgomd..

AR (3.3
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65. Statement: Use of cosmetics is hazardous
Conclusions : 1) Cosmetics cause side effects.
)  Cosmetics are inexpensive.
©3T80 1 Rodsy sTe sdso 5860 |
OOXH0 1 ) odys argarens SEErTo8 §0n00,
) &rocsg FETO0 $5359. '

66. Aright circular cone is exactly surmounted on the top ofa cylindrical pillar with its vertex
pointed upwards to construct a pylon. If the heights of the cone and cylinder are 3 m and
6 m respectively and the total volume of that hollow pylon is 22 m3, then the radius of the
cone (in mts) is

2 ' 18
(1) 2 2 = O 4 1

67. A closed right circular cylinder circumscribes a glass vessel which is in the form of a right
circular cone exactly surmounted on its circumference by a hemisphere. If the heights of
the cylinder and the cone are 10cmand 6 cm respectively, then the volume of'the cylinder
(in cubic cm) that is not covered by the glass vessel is

(oo RBE), HS5H837e0 (08, 200.oee5*).

(1) 2567 ) 244 3) %n (4) %n

68. Froma cylindrical wooden block ofheight 30 cm, a right circular cone of the same height
and same base is carved out. If the semi-vertical angle of the cone is 4 °, then the sum of
the areas of interna] and external surfaces of the remaining wooden block is (in sq. cms)
30 R0.20. I He o RPI5E Fadgiron 008 ©08 I, wod BEE30 Ko p,¥ /

(8. 20.0ee5%)
(1) 900 n ) 900n(3+J5)
(3) 900n(9+J5) (4) 1800 7

A O BT
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69: Ifthree solid metallic cubes with edges 9 cm, I2cmand 15
a single cube is casted with the entire metal. then the lengt

cmrespectively are melted and
h (in cms) of its edge is

A S 8 - = -

SR 9 Wo.., 12 0.8y %Ba<s =~ K R .

- " 0.0, JBaS 15 0., ev woenmr Ko Sorehs #¢3 (solid)
D JdSwe (BAOSIT STNS Rk eSF4EN o B o o 2 L e :

At r:a Jr-».i 56- .jrr SIS Jeogo S°E Q) &8 &8 goééo.m* 8 X, 2963620 oo

&8, woh FEY (Bo.ls o) + .

(1) 20 2) 19 G) 16 Ay 18

70. A s:ohd right cxrcu].ar metallic cone of height 21 cm and radius 3 ¢m is melted to form a
solid C)]mdc-r of height 7 cm. Then the lateral surface area of the cylinder (in sq. cms) is
N - 200.a)., TG0 2 Sv Bl o Kes - 2 X i
uJ_?_.:' 2] (-‘S-‘J-‘:, e 6?-4 gv 3 ewwO.adl. 77 OO us h:‘.é (SO]ld) 000539;050 QS‘:?‘@ 'L‘OQD@;&)
5onod), T70.03. I3 fe o8 fi& (solid) SzSom SrdoboTdd. & drdo g SESo
arogo (5.70.0.06%)

(1) 132 (2) 144 (3) 112 Mcx

e A fruit seller purchases 12 apples for Rs. 240. Out of them, if he sells 10 apples for Rs. x
in order to gain 20% and the remaining 2 apples for Rs. y in order to gain 25%, then x + y =
whb Dol Tl 12 ebd “odie 240 dmiokd Fand. s8St 10 &8 Hodn 20%
OPR) Fodadb x Sowebsr Lbaln ADS 2 =08 Ddodn 25% cﬁ*w(}')‘l' FoSTDE
yoriobr wli8d, wlivds x4y = '
Ve A Y
(1) 32(.) (2)—290 (3) 360 (4) 240

72, The marked price of all the groceries ina shop is fixed at a price 19% more than their cost
price. If the weighing machine in that shop shows 850 gms weight as 1 kg, then the profit
percent of that shop keeper is
ol 5 od*'d Sove I (2588 GO, 55 ¢ god 19% QB S G K)O(;Ooa‘,d).

¢ DSEoE &8 chogo 850 rino wdyB 1 Byr. m SrdigoB, wiyd o

Q5o dd A, ol Tdo /
(1y 20 (2) 30 40 (4) 28

73.  Aman sold his table at a loss of 11%. Had he sold it for a profit of 11%, he would have got
Rs. 121 more than its earlier selling price. Then the cost price (in rupees) of that table is
of 338 &3 D wod 1% 338 IgcxoTd. 2.83¢ wdd T 11% ererd8

Jowod) @B, vEA§ 30 6" TR IS wdy¥o &6 go-ilzlvdru‘m—jb;sm
SHa. oIy © oo Axg), §8) &6 (E=ScShees®)
(1) 1,500 (2) 1,300 (3) 1,100 550

. 1 . A
74. A certain sum is lent out for simple interest at the rate of 12-2—% per year. Then the time

period (in vears) required to get the total amount equal to twice that of the principal is
" 1 . .
©§ D0F B0y SoSHTRS 12-% Bnd' rdIgE amyth. sdwr ISk Do

> S0yd Sodo RS0y i:'oda‘a-é__eaé_édéad&g so 5358 (doddres®)
M) 8 2) 10 (3) 12 4) 6

AR e 158

1
g
3%y
1)

'Bf)'f
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If a certain sum amounts to Rs. 13,310 in 3 years and Rs. 14,641 in 4 years at the rate of

75.
interest 7% compounded annually, then r =
r% O SESE deos® 8 QY Fdy, 3 BosgBsnes 13,310 &rio Bgorrds
50050 4 HodSves® 14,641 &rie Svdorso wond, ¥y 1=
(1) 8 10 (3) 12 4) 15
76. Nutrition in Cuscuta reflexa is N ‘% )\ b
(1) Autotrophic nutrition = - (2) Holozoic nutrition \ @ L
(3) Saprozoic nutrition (4) Parasitic nutrition
o i 6" B G\
PY% 25 e
(1) ®gofoo Fae (2) =rodS FHEeo
(3) IesFY Fse (4) Jord) 2550
77. Mendel’s monohybrid phenotypic ratio of garden pea plants in F, generation is
h— &' 2omd ook Sowodoed F, §gos* Do0dS DE Dol Hode SYFETDd G
(1) 1:2:1 Joreetl 3) 11 (4) 9:3:3:1
78. Sexually transmitted discase gonorrhea is caused by
id (1) Neisseria (2) Treponema (3) Trichomonas (4) Chlamydia
il Bohg Hodd), Tgd oS KIBKrSo LHRTERIA
L (1) Fooastr Q) @5  (3) FEITS (4 shdar
79. Match the following. ;
List - I (Scientific Name (Genus)) List - II (Common Name)
a) Naja i)  RatSnake
! b) - Bungarus ii) Cobra
¢) Pwas ‘ iii) Viper
d) Tropidonotus : iv) Krait

v)  Pond Snake
808 TR 2SHET0d.

e - | (a‘é_\go& F500 (Hz8)) e - [ (edeo T500)
a) To——0 i) BOFR
b) wwomres ) oS,
) &rgd \;ii) 55>
d) @DESHS v) £
V) Q&S

The correct answer is :
SJels VN SSrprSS0 -

a-v, b-i, c-iv, d-ii (2) a-ii, b-iv, c-i, d-v
a-iii, b-i, c-iv, d-ii A4 a-ii, b-iv, c-iii, d-i

(A 16:8
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(1) Azadiracta
(3) Pongamia

£ G $o08 LofiroDS 82 &3 so orans LB/ AT ERE INIBrATK.

80. Malaria can be cured by quinine, which is an alkaloid extracted from the bark of

(2)
(4) Cinchona

Booklet Code

Vinca

(1) werddls: (2) Sos
(3) romrdsci» /(A)/bog‘a*
81. Match the following.
List-1 List-II
a)  Papaver i)  Scopolamine
b) Azadirachta ii) Morphine
¢) Datura iii) Reserpine
d)  Rauwolfia iv) Nimbin
v)  Nicotine
Bol TG 2dd8dol.
era - e -l
a)  S>38 i) 90
b) werdds: i) 31‘035
c) & i)  0™0Y®
d) c‘.@OJaL“ iv) oD
v) RE'8S
The correct answeris :
NOALS JNJrgridw !
(1) a-ii, beiv, c-v, di 27 a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-v, b-i, c-iv, d-iii
82. Spirogyra is included in
(1) Algie (2) Pteridophyta
(3) Bryophyta (4) Mosses
&Aoo A DE=838
(1) 3Seres (2) BBGRLre
N 4) SrSe
83. Saheliis ) )
(1) Condom thatis used as a barrier (2) Intrauterine dercc
(3) Contraceptive injection (4) Oral contraceptive
Jd «30
(1) w36com dARrhod & (2) HKopdcsrodd FEso-
(3) ﬁdg\;OS‘dé A8 20080 (4) ﬁdo&)G‘dé '8 S
LT 17-B

C} Scanned with OKEN Scanner




E]’g"-? Booklet Code
<

84. From the following, identify the correct statement.
(1) In photosynthesis, onc of the by products is Oxygen.

(2) Thesystem of interconnected protoplasts o { neighbouring cells is known as apoplast

system.
(3) Thetransport of materials through xylem is bidirectional.
(4) Most of the minerals enter the root by simple diffusion.
808 FS* BB TgDF0 Ko8oSod.
(1) &6 2dg SoRrhBohe’ wgs of wdadijo.

L4
(2) ©F, ©F, S0 @Yo B, wod Bowols WOSR) WFIY 5559 wotrdd.

«

(3) o&HH oo TR ST Body BIwS® 2S00,
(4) T 650 P VJET S4re5'E HEE DdBO TGTT BIIF;00.

85. Scrubbers are used to control this pollutant

(1) Sulphurdioxide _ (2) Carbon monoxide

(3) Carbon dioxide (4) Nitrogen peroxide

& 5O D30 @0STI8 ()25 JARBFATE0.

(D) &035 doﬁd‘@gfﬁ . (2) sES BJ"&)"EQS

(3) sEW 65053'%5 (4) =S "ac‘?z‘gﬁ
86. This plantis vegetatively propagated by lcafbuds

(1) Bryophyllum (2) Chrysanthemum

(3) Agave (4) Asparagus

H8 oo oo THATEY 2EYETI 308,

(1) PIrded e« (2) é‘a’ro@;ﬁﬁ)

(3) onis (4) eyo°io

87. Which one of the following is not the correct cause for the Revolt of 18577
(1) Suspission about the religious conversion activities of Christian missionaries
(2) Doctrine of Lapse |
(3) Non-payment of Royalties and pensions to certain Royal families
(4) Peasants were given concurrions during droughts
1857 8&ofowrtnd & §od TIS* B IS 5760 5707
e asbe S8 503 sEgESTo D8 (PRVRL A
(2) oag Do dFodo
(3) Fod& oa Stnohfowlh Fderey D005 Dogdoen BOowESE0
(4) E59 dSocHos® Do T8O o

(i .
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Choose the incorrect sentence regarding the Amoghavarsha of the Rashtrakuta. He
(1) Established Matrimonial alliances with Vengi rulers
(2)  Wrote “Kavirajamarga”

(3) 'BuiltKailasanatha temple at Ellora
(4) Builtanew capital city, Manyakheta
RS bBJ‘qw:Sdoéé Jo2080D H85°Q TEo DoE Food. gk
(1) Soh FoHos IorE Homogren SoFond
(2) “8doea Srgo” Ko sDowrdkd
k. (3) ATTS* Zerdares BOATR) ABYOT
}g)/s"g 2RI SrSgPLs QBT

89. Identify the wrong pair.

(1) Indian National Congress - 1885
(2) Dinabandhu Saarvajanik Sabha - 1882
(3) Poona Pact - 1932
(4) Aligarh Muslim University - 1870
2057 &S KoBothHdmn. :
(1) 208058 3335 sPopS - 1885 |

_A2) 8306 38§ duf - 1882
(3) I wdyodo - 1932 '

Mmé' B0 AT KB0 <L870> @
90. Which of the following was not the title of Mahendravarman - 1?
(1) Mattavilasa (2) Vichitrachitta
(3) Dakshinapathapathi (4) Chitrakarapuli
808 TIS* DG S0 ESES DA STIH AB?
ﬁ (1) Sogaerd (2) 2DEDE
/)/égea‘oodooé’é (4) D85~ EIO
91. Who founded “The East India Association” at London?
E (1) Dadabhai Naoroji (2) Motilal Nehru
! (3) BalaGangadhar Tilak (4) Rabindranath Tagore
0BS5S “&S R080Sr wAIVEHAS” FHODIBHE?
TS 6 @) ees v
(3) weo Komres 80§ (4) 8HogaE oirs

[NV 19-B
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92. Land donated to Jain institutions is referred to as

(1) Vellanvagai (2) Shalabhoga
(3) Devadana (4) Pallichchandam
BS éo"‘go& TS5 D0H2ES Frdned B wE)otrd.

() (1) 3] (2) Fozss
/(3«)/350"’:6 (4) D9Hyodo

93. Which one of the following was not a demand of the moderates?
(1) Expansion of Legislative Councils
(2) Larger share of Indians in Public services
(3) Reduction in heavy land revenue
(4) Demand for complete independence
& Bob TAS* WwET o Airok 5O JB?
(1) BEES TY) I8
C(2) 5DE Jdbgoest rsbdive T 2009
(3) ©BE Ry SHowH '
9) doPrg Frgdo@go .§6.§> &3robh

94. Who was the first woman that turned as the Bhikkhuni in Buddhist sangha?

(1) Yasodhara (2) Priyadarshini
(3) Mahaprajapati Gautami (4) Amrapali
TG Sodoodt HEYAM 3008 O oY ASK?
(1) TEG6 (2) ©oE8
3) DT Perdd TED (4) oHo>rd
95. Who popularised revolutionary ideas outside India?
(1) ArunaAsafAli . (2) Kadambini Ganguly
(3) Madam Cama (4) Prithi Latha
T ESBF0 IO RS T O TEYVVZE ASK? I‘
(1) o odD sd | (2) 5°G0DD KoKrd
do s 4) 08 o8

96. Where did British build Fort St. George? .

(1) Calcutta : (2) Madras

(3) Bombay (4) Machilipatnam
DBATE oS AR ) ¢ Df&oa‘do?

(1) sese Soeedo

(3) 0B (4) 50005850
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Which one of the following is not the concept of Mahayana Buddhism?
(1) Buddha was regarded as one of the incarnations of Vishnu.
(2)‘ Buddha could ensure salvation.
(3)  The worship of images of Buddha.
(4)'; The concept of Bodhisatta (Bodhisatva).
08 TS® DB Kotk T'Go ok, eSS 577
(D] 2R DR D), wSaedormr Domss.
[(2)| 20880 g asgiold.
(3) | D PoSLS sordoBdo.
(4) |53 (5°03&g) 253.

98. Whidh ofthe following work vividly described the rural life of the Satavahana period?
(1) Brihatkatha (2) Leelavathi
(3) Gadha Saptasati (4) Suhrulekha 4
6ol 86° D oo TETirSe o (rHe 2DE ) dSsor $8B08?
(1) 396 oy bersa
(3) Ter d3%8 4) osvyde
99. The caxliest coins that bear the names and images of rulers were issued by
(1) The Mauryans (2) ThelIndo-Grecks
(3) The Guptas - (4) TheHuns
Fofod HE) HdcKH T8 FTHH 9N &) & TBod =6 TS TN
‘(/y 53 ogen (2) @od' - e
) ogew 4) Svesoen
100. In whiclyear the Muslim League was found? B
(1) 195A.D. (2) 1906A.D.
(3) 19)7AD. '(4) 1908A.D.
5000 DoswAS SoSg)so I6?
(1) &.4 1905 ;s< &.4. 1906
8.4 1907 . (4) &.%. 1908
101. Who am{ng the following was the last Mughal Emperor? |
(1) Ahgad Shah (2) Alamgirll
(3) ShaAlamlIl (4) Farrukh Siyar
& 808 FOS* 56 DB5B Boowwen HESL?
(1) o5 & " (2) weoos Il
Q’)/ia ST ‘ (4) HErE DoSrE

[y e g B
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Identify the incorrect pair of the following leaders of the Swadesi Movement with th/
places where they propagated. ; ,/
(1) Haider Raza - Delhi (2) BalaGangadhar Tilak - Pune | /
(3) Ajit Singh - Punjab (4) C.V.Raja Gopalachari - Madras |
BoB HgdE edgs o, T BETEDD 365 BdTok Honodod 05| 2SR
s e -
) &6 csé./agég] 2) wo fords 8ok - B f
b@?ﬁwa‘ié’ 2oR - Hod : (4) 2.9. oz Fdowd - HEO |

|

e —

103. Which of the following statement related to Shajahan is not correct?

(1) His original name was Khurram.

(2) Abdul Hamid Lahari was one of his Court poets.

(3) He failed torecover Kandahar which was lost by his father.

(4) He ordered to hang Sikh Guru Arjun.

ussSte Dowobod & Bod TEgSned 2B Ho5*AB?

(1) ©dd wded & pogo.

(2) ©8d 8PS EHos® wid wd 58 oD,

(3) &3 dod ESHowI 5206546 |Froddnd 80h FolEos® W DHoSoETged.
DL, 8 &I &BHCHHD W DOW.

104. Who represented the Indian National Congress in the Second Round Table Corference in

London?
(1) I awaharlal Nehru (2) KhanAbdul Gaffar Khan
(3) Subhash Chandra Bose (4) Mahatma Gandhi

©oBSS* BodS TobBmS 445 Bdos® 68 =BoH SoEns F8EFe|SToDIB
D87 v

(1) 2356 b &= 2) T8 oS K36 S
(3) @R ALK /(A)/SDL'J“@‘&’ mod

105.

e
[ =

Choose the incorrect sentence rcgardingthe agriculture of the Indus Valley ciilisation.

(1) Terracotta models of plough found at Banwali.

(2) Evidence of ploughed field found at Kalibangan.

(3) Traces of canals have been found in Punjab.

(4) Water reservoirs found in Dholavira. |

o505 TH0ES ésa’)@oﬁrag 4020000 DBER TEFID o Bosoh.
pagdst S0 B8y BEELr SHrares EHFT60.

/(2) 5 ORoKSS* TS oS e w3 ESrTHd.

(3) SorSeS® §Te0dO BITR) g

(4) Sd6S’ 53 BaogoRdy ST
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106, Separate Electorates for Muslims was intro
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following Act? duced for the first time in which of the

(1) Montague Chelmsford reforms, 1919
(2) Government of India Act, 1935
(3) Indian Councils Act, 1892

(4) Minto-Morley reforms, 1909 .

Snpowss @355 V3 2830038 oSS 808 SHoes* @3%’1}&)2&&0&‘7
(1) 708K Bm{\)ag Qo) Geen, 1919

(2) | AS56)0E5 9 g0805 os>§, 1935

(3) 204053 TYHE) asirf, 1892

W"‘-Z}J‘é Qo) Sred, 1909

107. During the Chola period “Variams® means

(1) Village committees (2) Village wards
(3) Donations (4) Taxes
50 Feodt “Toubops” Gl
(1) s gnden (2) rdH TR
(3) doreren (4) 3y
108. In 1946, Which body is aimed to devise a plan for India’s Independence?
(1)  Cripps Mission (2) Mountbatten Plan
(3) Cabinet Mission (4) Wavel Plan
1946 * er8SBES0IK 3'560@8:1)053630 5800 (HeT P& ErroBoSTE IS & Bod T
t&é@OG‘O’J? .
(1) 8 WdS ((})40&5?.3‘&5 (Der 98
(3) SOIES A (4) I35 (Heo 9%
109. Which is the last dynasty in the Delhi Sultanate?
(1) Tughlaq dynasty (2) Khilji dynasty
(3) Slave dynasty (4) Lodidynasty
& §od TS B 8O, LS Sodsowd” D588? Y 94/}(
Do
m &HHE So¥o ) 99 Sodo
}‘9, DS ;503'0\/ Mé‘& Sodo /
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110. Match the following. \\

List-1 List - II

a) Lahore Conspiracy case i)  Suryasen \

b)  Hindusthan Republic Army ii))  Shyamji Krishnavarma

c) IndiaHouse iii) Ram Prasad Bismil

d)  Kakori Conspiracy case iv) Bhagath singh

§od TEA 283EHS%.
e -1 e - 1

) drdges

i) #god ENI8)
iii) oo B>E DS
iv)  25KS Doh

b) rociS 8595 wby
C) Qo&osr FT9
d) &80 s
The correct answer is :

BBGS DSFTHS0 : :

wﬁ a-i, b-ii, c-iii, d-iv G aivy b, s, di
(3) a-iv, c-:.u c-i, d-iii- ? a-ii, b-i, c-iii, d-iv
111. Identify the correct pair among the following that belonged to Mughal Administration.
(1) MirBakshi —  War Minister
(2) ChiefQazi -  Minister incharge of Charities
(3) Vazir —  Prime Minister
(4) Vakil —  Finance Minister
B0HS HBTOSE H02050D & §0d TAS* HBDS =& K08 otSHsmw.
(1) .wcm.&.m - OBngHod _
V1 @) 5wz - SomabHo@ (3% ©5 To88)
C O (3) 526 - BEs%08 ‘

,Vc\mm%. - ©gE50@ -

112. The Saka King Nahapana was defeated by which of the following Satavahana king?

(1) Srimukha (2) Satakarnil
(3) Gautamiputra Satakarni (4) Yagnasri Satakarni
& 80b TETTS Twrod’ EUaS S50l LB0D58 582
Do . .
(1) &Soopodd (2) 3068 T8y
FEDYE TEEY .N?U\ouoww TSEP
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113, The credit of shifting the Euro
goes to?
(1) The English (2) TheDutch
oy (BSgSwe 008 288 §
DRODS DI 58S B8y Sr067

C - . ‘
pcan trade from SPIces to Indian cloths for the first time

! (3) The Danes (4) TheFrench
EROTD crEDaS Tpoasus Bugmeds

M'&Oéd&"’d) (2) &Sz (3) BSen 4) Bodmd
3) 114, r\)‘;/ilit)c:?formgn traveller gave detailed account about Motupalli Port during the Kakatiya
j (1) AbdurRazak (2) Nicolade Canti
(3)  Marcopolo (4) Barbosa
Q B ojf@éocé.? 58805 ST00&S SPE0BY BHo 00D YOS dSoren QTN E?
(1) ©en6 o (2) 0 & Lo
(3 DG (4) e
]ﬁ)ldcnlil'y the temple which did not belong to the period of Guptas?
"O‘S (1) I)nsavzllarlcmplcal Devagarh (2) Sivatemple at Bhumra
(3) Kailasanatha temple at Ellora (4) Vishnutemple at Tigawa
DY 57 I8 Bogs STocsrd) K803048,
(1) BIES'D ST5676 st (2) EErS*d 33reoHho
(B) DS S* D Bordard seocko (4) BRTSD 2% wodbho
116. Match the following. ‘
a)  Chandupatla inscription i)  Victory of the Kakatiyas
b)  Vilasa copper plate inscription ii)  Oppressive rule of Muslims in South India
¢)  Kaluvacheru inscription iii) Death of Rudramadevi
d)  Draksharama inscription of iv)  Pathetic condition of the Hindus in
Malyala Hemadri Andhra desa
o8 TR RSB SoBw. .
e - 1 e -1
b) Dok e THI8w i) &8 rE8tiTos® Snpow wndds Fos
) fendBH THI0 iii) BB Sodeso

d) DorgerSrd EFod TSN V) ©oEdfod rodHe (eI $038

The correct answer is :

/
DODS DIFETSS : Tt
(1) a-i, b-iii, c-iv, d-ii ,927/:1-§u, b-ii, c-iv, d-i
(3) a-ii, b-iii, c-iv, d-i (4) a-iv, b-i, c-ii, d-iii

IIETR O s
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117. What are the Dharmasthiya and Kantakshodhan of the Mouryan period?

(1) Municipal councils (2) Courts
(3) Military units (4) Village Panchayats ;
S50 S0 T E6hos Ho0a0 EobEFES wSm 2?7 |

q’ i
(1) 9808 Sodren Ww%‘a"m
(3) % dermren (4) (S Homronden i

118. Match the following leader with the places where they revolted in 1857.

a) NanaSaheb i)  Oudh

b) Begum HazratMahal ii) Kanpur

¢) LaxmiBai | . iii) Barrakpur

d) Mangal Pandey iv) Jhansi

Bo8 TroHBess 185765 T8 8 Mertn BOS PITE 28I6T0d.
e - | . dee - 11

) ST TA.- 1) @38

IR

.. ' — //
b) DKo SRS SoHTS T i) 536
C) o8I0 -\>/’)iii) 856
d) SooK§ Jod —_i¥) &)

The correct answer is :
DOGS DS ¢

/y a-i, b-ii, c-iii, d-iv //(,2%/21-ii, b-i, c-iv, d-iii

a-ii, b-iii, c-i, d-iv }ﬁ,)a a-i, b-iv, c-iii, d-ii
119. Arrange the following Gupta rulers Chronologically.
a) Chandraguptall b) Vishnugupta
¢) Skandagupta d) Kumaragupta
80D MY Fosod srardESonr ©doydo.
a) BodH HorIYwdd &) 4 b).  DRHYLS

) XOBHRYB D So S Srioh
() @,0),(0) @) /Z/Z) (d), (c), (b)
M (a), (b), (¢) - 4) (c) (d), (b), (a)
HIIIIIIHIIlllllllllllIIIMIIIINIIIIIIIIIII 263
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>

4)  Madras Mahajana Sabha

b)  Madras Native Association
¢) IndianAssociation

d)  Poona Sarvajanik Sabha

8ot crzéal rJOmO.(‘ T3 N FooDS eooéc‘{)do esc'don' s*oLs‘;’noeS‘ es:.’nda‘)&'no

a) JEe DFes 3P !r;g?}

b) DoErd IBS cFHBDHAS (¥~

C) R04CHE CHHDHAS

d) o TOeuIE S

(1) (b)-(c)-(d)-(a) (2) (®)-@)-(c)-(a)
,(3-)/01)-(h)-(6)-(d) (4) (@)-(d)-(b)-(c)

I21. In which of the present districts of Andhra Pradesh, the Guntupalli Buddhist monuments

are located?

(1) Eluru district (2) Anakapalli district
(3) [East Godavari district (4) NTRdistrict
HoLOBY ¢ dores RS so@RTSY J 2ard* fof?
A1) Tords 2o (2) ©s55d 2o
Ao 80y No30 2o 4) N'I'Req_:

/

122. 'An object is dropped freely from a height of 125 m. The time taken by the object to reach

the ground is

(Take acceleration due to gravity = 10 ms -2)

125 m & Sood w8 SIS .osd‘)n‘ 1BoBK 2;EDAT K. 5529 air:)o&) DobsH Sy
pTOT)

(HS8s SeSmodd 10 ms™ m 5308 SS»)

(1) 2s 2y 5s (3) 10s (4) 20s

W

. The time taken by sound wave to travel a distance of 1050 m in air is

(Speed of sound in air is 350 ms™')
Mot 1050 m Srdo Hosrsiohirsdy ¢ S6omIs HLy sTwo

(ros* § 58 350 ms~!)
(1) 65 £2) 3s 3) 2s 4) 1s

LTy 278
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124. If*v’ is the linear speed of a particle moving in a circular path of radius ‘R’, then the angular

speed of the particle is
Frgrgo ‘R’ o wf Samss Srfos’ x&ueo&ua.p 2.€ €00 BHoH 36 ‘v’ wond, & Emo
RB0Y), §edos 58

v %

IHMNI\ ANV <Hﬂu va — AAV VR

M) s

125. Aman walks 10 m horizontally by holding a box of mass 10 kg on his head. Work done by

gravitational force on the box in joule is
(Acccleration due to gravity = 10 ms™2)

10 kg 8550°3 flo 2.8 2 dodod DERER e Sdh §82 .o&u.o&aoq. 10 m &»8o
S&DS, D 39@%@&8 20 WosH &.o FSeS*

(o8& c.mamvo =10 ms™2)

(1) 100 . (2) 1000 (3) 10 4 0

126. Ifthespeed oflightinamediumis 1.25x 108 ms™! and the speed of light in airis 3 x 103 ms™', then

the refractive index of the medium is

08 5rd%0c® 5708 58 125 x 108 ms™! obasn St 5708 38 3 x 108 ms7l, eans
SSriSEo Boo¥), SIS oeso

(1) 24 (2) 2.9 (3) 1.4 4) 3.6

127. Current through 5 Q resistor in the given circuit is

ad8S Soohos® 5 Q I&EE0 oo S HBariro
10Q
VWWW—

1

20V . 5Q

(1) 0Ae (2) 4A : (3) m> @ w>

128. Heat is supplied to two substances A and B of same mass at the same constant rate. If the

ratio of the specific heat capacities of the substances A and B is1:2, then the ratio of the

rates at which the temperatures of the substances A and B rise is

BSrS BS8gubed Ko A, B @l ok dorgess 28 VS & a.%F J890° BoHH838.
,>.9@&8 B & STz JIFEY a.&oav.mc A8 _.N ®os, A 0850 B &a.omc &ﬁ&&co
04 dte AN .
1y 12 (2) 2:1 3) 1:1 4) 114 <

(T 288
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129. A solution of X is used for white w
forms a thin layer of compound Y

X Bwg), v Seo

ashing walls. X on reaction with CO, of air slowly and
on the walls. What are X and Y?

R MEos Bom a8 sdam. Xmos'd CO, o RSB SE5T 0
fdow Yol SESTAN S0E), Jeosd 8% Y08, X, Y e D2

(1) CaO, Ca(OH), (2) CaCOy, Ca(OH),
(3) Ca(OI-I)Z.CaCOh (4)  CaCO;, CaCO;

130. Identify the correct statements from the following.
I)  The gascous products formed in chlor-alkali process are Cl
II)  At25°C pH of a neutral solution is more than 7.

III)  Graphite is an allotrope of sulphur.

2 I'I').

IV)  Potassium metal can be cut with a knife.

(1) LIVonly (2) ILIVonly
(3) HLIVonly (4) 1L 1T only
ol o8 NIETes TRy Srgmged hiowhlw.

) 56-v0d dordos' d6\d arakn adyame Cl,, H,.
) 25°C 3¢ s ©Swo pH 7§y 63,

) oo .‘6(;35 G3wg), drJroddo.

IV) &&rhoho S'5W) oriod' Slabddy i,

(1) LIV 3@l (2) ILIVSr@d
3) HLIVIEgd - (4) 1L 3@

131. The metal *X’ liberates hydrogen gas with dilute hydrochloric acid, while the metal ‘Y’
does not liberate hydrogen gas with the same acid. X and Y are respectively
X o S'ro Szo TS5 808" SET0d WE RS Tasnd oo Bxos.
sond ©3 8508 Y vl S0 TGRS ToodE dde Babdo. X, Y o S6sm
(1) MgAl (2) ZnAl (3) Zn,Cu (4) Cu,Zn

132 ld'cnlify the pair of oxides which show both acidic as well as basic behaviour.
s S0Bas0 576 J5erSo BDododd ©E8)D 93.950 2ot MHBowSw.
. (l)ﬁ Na,0,K,0 (2) CuO,FeO
7 (3) ALO,Na0 (4) Zn0,ALO,

MM AR 2.8

(} Scanned with OKEN Scanner



133. Match the following

List - I (Ore formula)

a) AL O;2H,0

b)  MnO,

c) Fe,O,

d) HgS

8od T8I 28BS HSIn
20e - 1 (&) Fdoyer)

a)  AlLO;2H,0

b)  MnO,

c) Fey0,

d) HgS

The correct answer is :
VBRSNS JIrerdsw ¢
(1) a-ii, b-iii, c-iv, d-v
(,’2/)/21-\', b-iv, c-i, d-ii
(3) a-v, b-iv, c-ii, d-iii
(4) a-iii, b-i, c-ii, d-iv

Booklet Code

List - II (Name of the ore)
Magnetite

Cinnabar

Carmnallite

Pyrolusite

Bauxite

e - I (T HE)
Srif) B

e

568

60

8)&5

134.

An element ‘X’ reacts with Oxygen and forms a compound with high melting point. This

compound also reacts with water. What is ‘X’?

X' o Sarogo spSE S65 Tob 088 BIESS Yo Ao o8 PR avged. &
$E)eS80 DBS Krae BEET oS08, X’ ©ID IB? B

(1) € (2) Fe

3)

®

Ca (4) Si

135.

@S (Brine) S deoghideo modSNG 5°¢'6 5§ X’ O TRENY), BSE 56 Y

@ TrosnY IewSdoaron. X, Yeo d9?
(1) O,H, (2) H,Cl,

Electrolysis of brine liberates a gas ‘X’ at cathode and gas *Y” at anode. What are Xand Y?

3)

T M g 1 R

H,.F, (4) CO,H,

[

30-B

EHEE
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136. \"» Elch type of ores are converted into oxides by heating strongly in the presence of excess |
air’
(1) Sulphide (2) Nitrate (3) Carbonate  (4) Halide >
D CEC T 3350555 (Lanf onPomaean) oo P
« 080 T30l (308 pized) e8¢ mo SIoFos” o IATJSIy ©d sFFeor
Sr6eron? <
(1) “&ys (2) 3@s (3) OIS (4) =88
137. Global Warming is due to
(1) Ozone depletion (2) Green house effect
(3) UV radiation (4) Haldanc eftect
grerib 56mo
(]) LN Hrod” (2/)/:7‘06 ‘.{3‘3., L.'JZ‘J‘;SO
(3) UV OBtmo (4) Q5 Berdo
138, Statement1:  In plants, the glucose for glycolysis is derived from sucrose.
StatementI1: During plycolvsis, glucose and fructose are phosphorylated to give rise to
glucose-6-phosphate by hexokinase.
(1) Both statements | and 1] are true,
(2) Both statements | and 1 arc false,
(3) Statement ] 1s correct, but statement 11 is false.
(4)  Statement | is false, but statement 11 is true.
argwg 1 Swg e Dok e3R0Dd dArblard o' $008 Fodarow.
argpg 11 ’25‘0?;56‘ TEEle 90 So fArEe, $Ewes FPOAS Bod
ArElae-6-37tn 608,
(1) Srgpgen I, 11 $8503.
(2) Sgpgen I, 11 283032 7.
(3) orgwg [ SOSLIB, 579 Tgwg IT 3883088 s°co.
(4) ogwg [ 98308 570, 57 Trgpg Il Segvie.
139. Pick up the wrongly matched pair.

(1) Platyhelminthes —  Flame cells
(2) Nematoda — Renette cells
(3) Annelids — Nephridia
(4) Molluscs —  Green glands

SEyr &) 28 ooSod.

(1) 280088 - oyo ST

(2) JIds'e - 0I& e

(3) ©Jdbe - S en (Sedosr)

(4) oo - 508 \fodoew
U I 318
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Assertion (A) : Inalake ecosystem, fishes are described as nekton.
Reason (R):  They are capable to swim in water.

(1) Both (A)and (R) are correct; (R) is correct cxplanallon for (A).

(2) Both (A) and (R) are correct; (R) is not corrcct explanation for (A).
(3) (A)is correct and (R) is not correct.

(4) (A)isnot correct and (R) is correct.

dFo (A): QO LS8 SFHRS*, VIO ITS W Sg5L0Ane.
s*8e00 (R): ©d S H5K04 Fdoggo £OA wolrow,

A1) (A) %8050 (R)Bodor Q0G1ID; (R) 938 (A) & S050&8 DS8eo. _
(2) (A) 58050 (R)Bod R0IY; (R) 038 (A) K 30608 S8 5.
3) (A) Q0GDSH Bodasx (R) VBRI 5.

(4) (A)D0G0%0 57 Sobasn (R) DOSIB.

141.

The number of fundamental subjects listed in the cleventh schedule of the Indian Constitution
Fhatete] 0re"g0R0S ) HBE0dS ﬁo)cérsc'?d)“ FoBIDBAS (rEE woT o :‘Sospg

A8 2) 28

3) 29 4) 19

2. JThe tenure of member countries in the Social and Economic Council of UNO

(1) 2years (2) 3years

(3) 4years (4) Syears

DEFTRGINE A0, F0WE S0k wPE H0ddS* vy Brro HEDs e
(1) 2 dosomen B2Y 3 dosgoe

(3) 4 dosdyTes . (4) 5 BosSTes

143.

Which Constitutional Amendment Act has reduced voting Age from 21to 18 years in India?
(1) 60 Constitutional Amendment Act
(2) 615 Constitutional Amendment Act
(3) 62" Constitutional Amendment Act.
(4) 63" Constitutional Amendment Act
8800’ Q) Tragolf dB8e0 W&o LiSoff Ao 21 Sood 18 ooéé‘bc'os&) SHoNSH?

(D) 603 orargon S8 $&0

2615 Tergolf D580 W0

~H||||||HHIII!lllllllllllllllll“!lllllllll | 28

(3) 625 orargolf HHCe WEo
(4) 635 Trargolf dP6e0 FEo
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144. Under which article of Indian Constitution, Inter-
(1) Article 253 (2) Article 263
(3) Article 275

(4) Article 285
g0 Tergofdnd'd & w8820 TJ0 ©08T°E 5040 Dc*‘)ém Tosodd 28058,

(1) 2535 @560 (2)—2633 ©p&wo0

(3) 2755 w80 (4) 28535 wdESmo

State Council was cstablished?

145. In this part of the Indian Constitution,
incorporated.

'() e o 4:"of’oc o) 4

provisions relating to municipal bodies are

& et .m&).o.:cféogué) 2oWOoRONS woTen ﬁ'odoodxﬁacs‘cm
(1) PartIXA (2)"Purt X A Gy PatIXB NP PartXIB

M 0. Identify the number oﬂaf{mmncs included in 8" Schedule of IndianConstitution at present.
ey ore reofiod' 835 c’s:-gu.) S0 By go frod).)d‘)m&é O .ooms(‘&) 580048,

-HJ/’ (2) 18 (3) 24 4) 26
( 14 /) lhuunnuﬂ non permanent member countries in the Security Council of United Nations is
; K (] ) 2 years (7) 4 years
’ (3) Sycars (4) 6 ycars
wEgoTeg HE HEer Boddd! wrid 3¢g dro 385 wo
(1) 2 Joddoren (2) 4 JoS&oren
'(_,))/f ‘oouu‘)c SV @ 6 SoS&yoren
| 1‘\ The founder of Bahujan Samaj Party .
(1)  Mayawau (2) Mulayam Singh Yadav
(3) Kanshi Ram | (4) Prakash Ambedkar
pIvRd ISeE 2§ g3 dsoen
(1) Sorosrds ? \12’)/51»@01)0 ©off oSrad
(3) s o (4) ©5°Q wod) s

—

149. The Estimates Committee in Parliament consists of
(1) 30 Members from both Lok Sabha and Rajya Sabha :
(2) 30 Members from only Lok Sabha
(3) 30 Members from only Rajya Sabha . .
(4)  Some Members from Rajya Sabha and the other Members are nominated from outside
SO0 vodTre HDoMwo & (§od JZHFOD EOA Gokdo?
(1)' S8 Hodadn TragdPe 3008 30 008 JFhgen
2 SE555*0 30 S008 dehgen Sr@d
(3) o= §e' 30 S0 Sghgen SED .
(4) §Q S0 dZbgen Tragd L0008 HHBAD ADS dghgen a5 SHod FD
{3050‘.)(56‘63

N 3.8
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\LS:O? Which one of the following is not a characteristic feature of developing countries like India?
(1) Income inequalities

(2) Predominance of non-agricultural sector
(3) Highincidence of poverty
(4) Scarcity of capital
Bod a‘dé‘ 8835 %0 3083 @i)ég’g Bocﬁoéoénl 3T o§sa
(1) soroh wddrddgen
55T EE Somre Faogd
©QE Fo0 WEBYo
(4) Sorols 58 -

151. Which one of the following organisations furnish the National Income estimates of India? ;

(1) CS.0. (2) CAG
(3) RB.L (4) LSIL
& 80B TS FESBY 8o srrab wosTod Erdrodod dog IB?
(1) D.09%.c. | 27 56 (CAG)
(3) «6.9.o. (4) .02
152. Asper 2011 census, the number of people depend on agriculture sector in India is
(1) 263 million (2) 273 million
(3) 268 million ' (4) 275 million
2011 zarer B0 5760 GrESBT0S” S5l oo BErERAS Sg¥ye Somg
(1) 263 0005 £2Z) 273 20H
(3) 268 2O (4) 275 Q09058

153. Which among the following programmes is not aimed at creating supplementary employment !
to the poor? '

(1) DPEP (2) TRYSEM
(3) NREP (4) SEPUP
& 1808 TIS* D0 wdwol GFH §dyousio 0580”.‘ B 3680 D82
(1) &>=ab. (DPEP) (2) 8.663.008.2.09%. (TRYSEM)
(3) AR.s6.a2.d> (NREP) « (4) o98.2.2.08%0.5 (SEPUP)
154. As per Industrial Policy Resolution 1948, in which schedule the Coal, Iron and Steel ‘
industries were included?
(1) Schedule A (2) ScheduleB ?
-(3) ScheduleC (4) ScheduleD -
1948 008 257 om0 s do, ai'iﬂb, a5 BoBa%o S5y B0EHEs 9 Uyt
Deywdoroxn? E‘
7 (1) ndrgSA A7) ndrgS B
(3) wdrgs C (4) RdrgS D

(AR 348
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155. The Reserve Bank of India (RBI) was nationalised on
» (1) April 1, 1935 (2) January 1, 1945
(3) January 1, 1949 (4) March 1, 1949
w88 B85 27308 (RBI) erdonrEd BoH2dS 86
(1) LS 1, 1935 (2) 2358 1, 1945
(BY—=338 1, 1949 (4) S0y 1, 1949
156. Which one of the following basic dimensions is not considered in the calculation of Human
Development Index (HDI)?
(1)  Infant mortality (2) Longevity of life
(3) Knowledge (4) Standard of living
& 800 TS 5185 ©hSY %0 (HDI) B8 09" 508w 08 G 82) 36208
®odS0 DB? :
(1) 2% Soberen m:)é 500
(3) =0 05{%)—’2:6:6 HSre00
157. As per 2011 census, which one of the following districts in Andhra Pradesh (after 2014
' bifurcation) has the lowest literacy rate?
(1)  West Godavari (2). Anantapur
(3) Vizianagaram (4) Y.S.R.Kadapa
2011 =3 BE o B5°60, Bo|FRAT o30S (2014 defes wSoss0) & $od zeres?
Vg0 VETH S T EHos0d) Ber IB?
(1) 33y Aorse moeﬁéi‘f??
(3) DacHSKSo . @’)/YS-R- 88D
158. Who argued that the foreign trade has strong ‘Backwash Effects’?
(1) Arthur Dunkel ' (2) GunnarMyrdal
(3) Arthur Lewis (4) Prebisch
9 D3R sredago woPS @8I (Backwash) BT o8’ 00 $odd IS THoTE?
C () ©g6 dors (2) o6 dogé
j})/esgé— Q000 (4) 23

I59. Which organization’s functions were taken over by the WTQO?

2 H0g Bg), doos WTO BHeos? .
(1) IMF (2) IBRD
_(3GATT . (4) IFC
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160. Match the following books with authors.

a)
b)
c)
d)

§od

List-1
Mountain Mammals of the World

Knife : Meditations After an Altemptcd Murder

Four Stars of Destiny : An Autobiography

A Wonderland of Words : Around the Word

in 101 Essays

DI5T0H T8 Fondod® 2EIES0d.
e - |

SToBond Srdody ud & 368

39 EBAY) wPE IS ABoRE Hgs
6 F6) vd BRI IS BET*ASED

@ S086 ool uH Z)%: AT0& & 3§ ad
101 %S

The correct answer is :
DBGS JdJrerdsw ¢

(1)

(BY adiii, Briv, c-ii, d-i

a-ii, By, c-iii, d-i

(2) a-ii, by, c-i, d-ii

@4 a-iv, b-i, c-ii, d-iii |

Booklet Code B

List-1I
Manoj Mukund Naravane
M.K. Ranjitsinh
Shashi Tharoor :
Salman Rushdic !

=de - 11

BSE S0dos SESI
M.K. oz,

43 §876

YIS 6%}

161. In October 2024 the Union Cabinet has apprdvcd setting up of Rs. 1000 crore Venture
Capital fund dedicated to space sector. In connection to this which of the following sentence
is incorrect?

(1)
(2)
-3
4)

The proposed fund for the financial year 2025-26 is estimated at Rs. 150 crore.
This Venture Capital is developed undc; the aegis of IN-SPACe.

Approximately 150 startups will be supported:

Indicative range of investment proposed during late growth stage is Rs. 30 crore to

Rs. 60 crore.

2024 0§26 oS SOHIL wodBELOmTIS & 1000 LS J0wE E1BS Hob ‘Dc:)é:oéo

@Br&oi'.)o& B8 Hoofod JB5™ a‘égo A8?

(1) 2025-26 &8s 205GTI8 BEFBoDS WoIT VY &r. 150 S,

(2) & 3o s7gwtES IN-SPACe 66558506 @DH)R DBabhadod.

L3y 0578 150 ©058 Sogosh Hogd ©HR0B.

(4) ;’36;’355653'6‘ ”‘bé:gaa& D@8 DEFrBoDS I S-S & 30 §‘é(g, 3008

&, 60 8. -

HIII\IIH\I|Ill|\ll\|HIIHIIIIII\IIIHIIIII 6B
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Theme of Vigilance Awareness Week - 2024 is
(1) Sayno to Corruption : Commit to N;£i011
(2) Culture of Integrity for Nation’s PI:OSDCI'iT.\'
(3) Corruption Free India for Developed Nation
(4) Corruption is Hurdle to Dcvc!opz&acm‘

2024 ;2‘5'::: CEMET LA D

) €ean - = U220 5. &l
J A 3
L ow oo ~ -
(1) w288 & B0l - BoE « - B
©. - W W Ol LTS R }-aTe ~XXAR
A -~ S SLT8 &odldoed

o6 o ’
e & N - 2 " y
(4) Deltits L OB estsntc
. ' - -\ 3N

On 27" October. 2074 the hiohoecs <o - : ,
‘)1?12'71' )L)i(ﬂ( r, H + the highest offices of the Government and key monuments in Delhi,
mcluding Rastrapathi Bhavan, Parliament House have been illuminated in Red colour. This

15 a part of awareness campaign of the following.

(1) Carcinoma (2)  ActdDyslexia

(3) High Blood pressure (4) Diabetes

& (ol niwbd >8S° Andut, e POpER0St rfomr 27 0Beb 2024 o7
~ o J —~——— ey

&{go‘b Or g wGED0, floled B3 wdpdhd rogjocirar H0ckn ok ISR
DY Gohud' (B iod I

(1)
(3)

In November 2024 South Asia’s largest maritime thought leadership forum was conducted
in Delhi. The ttle of the forum is

(2) eF4308y05 D
fwdSc {(4) Sgddro

(1) Sagarvojana (2) Samuodramanthan (3)  Sagarmanthan  (4)  Sagarmela
SSond, 2024 dfr shalr ), €80g 0085 g8 4605 P Jos*

- ¢
o 2 .,

\\\JOS.Q‘CQL.\ 0. ¢ 2D
.

(1) dEb@ees  (2) 330E%0085 (3) 62085 MY >hde

Wl

165.

Expand GRAI - 2023 launched on 18™ November 2024 by the Minister of Personnel,
Public Grievances and Pensions.

(1) Green Regional Assessment Index - 2023

(2) Grievance Redressal .—\ssessmentiand Indt;x -2023

(3) Generative Rc—applicable.»\niﬁc1al ImClllgcn.Cc -2023

(4) Grievance Reporting and Action Implementation - 2023

33028 18, 2024 E.':Obéé', ;5235 B3Ry SoBosw 13556‘.5“) Soo @& TP &53;’12,000:5
GRAI - 2023 & D380508.

(1) S 8238 DJo 203E) - 2023

(2) H38) BEIS B0t wob =2035) - 2023

(3) =25085 5@2{35’&35 &sg"aihcﬁoé' 2oL03]) - 2023

) h35) 0Dof ©ob cirgS aoh00dAS - 2023

(AR 378
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On 4™ September 2024, to end the 35 year long conflict in the State of Tripura, A

Memorandum of Settlement was signed between the Government of India, Government of
Tripura and the following organisations.

o6 4,2024 § 898 oQoe* 35 bq@n» 53 KeS) D0PEE B0 S0hoR) Josodr
- go KGR Bold ©BebEso, BYS Wb $0ckn & BB Poges dodsTen BT,

(1) NLFT&ATTF (2) PLA&NDFB
(3) GNLF & UNLF (4) KCP &JKLF
: 167.

Choose the incorrect sentence regarding the Republic Day celebrations 2025.
(1) Ministry of Tribal Welfare wins best Tableaux award.
(2) ~ Andhra Pradesh Tableaux was Etikoppaka Bommalu : Eco-Friendly Wooden Toys.
(3) Thethemeis “Vikasit Bharat ki Ore Sadaiv Agrasar’.
(4) The Chief Guest was the President of Indonasia.
0585 d 2025 ¢ d)Tros donofod BN T80 JoE Bobod.
H02d DooB3diTy Lo &g ¥ELo uTd) HeowHiHos.
(2) -0 @BBE #ELo 1 IBEINE TS 1 HogSCelrd BE) TS0e0.
(3) adddo ‘DERE rES 8 L6 JBS WSS
(4) Bomg ©86 RoGVackr wEgE.

& 168.

In connection with 97" Academy Award winners, match the following.

a) BestActorin leading role ' 1)  SecanBaker

b)  Best Actor in supporting role ii)  AdrienBrody

c) BestActress in leading role iii) Mikey Madison

d) Best Director iv) Kieran Culkin

97 3 w5 dd vT§ IR HowoRoD §od T aéédzﬁé&.
e -1 e -1

a) PSS PESt g Stk i) DS ¥

b) &g SHcH Stk i) 0BS @

C) B FES® SE5 3¢ iii) o8 Jass

d) &g S iv) 8c96S 59§

The correct answer is :

BB DEFEEB®

) a-ii, b-iv, c-iii, d-i (2) a-ii, b-iii, c-iv, d-i
9) a-iv, b-ii, c-i, d-iii ) a-iii: b-iv, c-i, d-ii

AR s .

Ll

(TS 8
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169. Match the following appointments with the persons as on March 2025.

a) Defence Sccretary of India i)  K.Sanjay Murthy
b) Comptroller and Auditor General of India  1i)  Arvinder Singh Sahney
¢) Indian Oil Corporation Chairman iii) Harsha Vardhan Agarwal
d)  FICCI President iv) Rajesh Kumar Singh
2025 S0y 5738 & (Fob QSrSsrod Wwolr Sg80d” udHhEisob.

e -1 ' e - 11
a) rdd dgeaa"m 56558y i) B.dozcd S0
b) wrdd So@wb wob shtd 238S ii) 8708 Doh ST
c) RoBIHS WonS 5°EY0AS BER iii) ¢ S¢S wiivgd
d) FICCIledgdadh iv) oBEQ 376 doh

The correct answer is :
SlelesSE B8 aS0 :

7(4’) a-ii, b-iii, c-iv, d-i )})— a-iii, b-ii, c-i, d-iv

iy, be, c-ii, diii @ a-iv, b, i, d-ii

170. Who among the following was not a member of Space X Crew-9 mission, that returned
from International Space Station to carth on 19t March 2025.

(1) Butch Wilmore (2) Nick Hague

(3) Suni Williams (4) JohnGlenn _

wodT80%H wodbE oo $08 erd 19 57y 2025 & 80A SIS DD I§ B9
;’baSé‘ o&nglmﬁo‘gcﬁo 577 E0. '

(1) =05 26306 (2) ¥ WA
L350 290 () =SS
171. The first Indian astronaut selected to go 1o International Space Station is
(1) KalpanaChawla (2) Rakesh Sharma
(3) Shubhanshu Shukla (4) Suni Williams
wodT80H woddE SoTrds BHE S IR0 BEB FrES SRS
(1) Sy oT (2) o©EQ #6Y

BT Drob BF (4) b 20005
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172. In QS World University Rankings: Asia (2025) the following Institutions of India placed
within the top 50 ranks.

(1) 1IT Madras & IIT Kharagpur

(2) 1T Delhi & IIT Bombay

(3) The University of Petroleum and Energy Studies & IISc.
(4) 1IT Roorkee & IIT Kanpur

QS 269 05rHB)E Togosofy) 1 RS (2025) &* 2rESBTI8 Bodd (Bod doyen
303 50 0‘805006‘ 63‘3033

MT S &IIT pshyrs
(2) HT&E &IIT 0B
(3) & chrastyd e HE*dcho wob I8 S & IISc
(4) 1T 6r6), & T 5°8mE

173. Match the following indexes with the respective ranks of India.

) List-1 | List-11
" a) Global Hunger Index 2024 i 118
b)  Global Innovation Index 2024 ii) 159
¢) World Press Freedom Index 2024 i) 105
d)  World Happiness Report 2025 iv) 39
Bod Jrdod T8S r68Bd0 odS Trgoswd” 2EDEB0A.
de -1 =de -1
a) fws o6 20aE), 2024 i) 118
b) Fad aSHIAS xoaf), 2024 i) 159
¢) 36§ @5 LdS 203k, 202 jii) 105
d) 6§ SIS 0§, 2025 iv) 39
The correct 'c;nswcr is:

5OG0S DIFGESN : .
W a-iv, b, e, d-ii 2) ai, b-iii, c-iv, d-i

| )Zﬁ’ aeiii, b-iv, c-i, deii Y i, by, i, i
T 0.8
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Which of the following was not among the four engines of development proposed in Union
Budget 2025-26?

(1) Agriculture | (2) MSMEs

(3) Exports (4) Imports

§od TAS* 2025-26 o GES® HE8FBoDS Tooth 0PSB zS‘CSé f&oé‘ 8&)& 28?

DR sg83mas0 . _A7) MSMEs

(3) foSocen ,L@/am;s;éom

175.

Identify the incorrect sentence regarding the announccment of Ramsar sites by the Central
Government in February, 2025.

(1)  Announced four new Ramsar sites.

(2) The total number of Ramsar sites increased to 89.

(3) Assam and Bihar secured their first ever Ramsar sites.
(4) Thenewly designated sites include two from Tamil Nadu.

258 2025 & o6 HBTe HB0D o WIE] ELIK SowoHod 5057 ¥y
JoHE Ba$Hod. , ’
(1) e 58 6‘53;65 P3Tol HEBoDd.
(2) Bndgo 556 @aro Sopg 89 8 DdAOB.

e—az&ggo S080%0 HFEen 533&3313(5&35'6 > 5o56 @8%‘0:63 oorow.
4) §'§r¥° o FodS @Broes‘ EDFEE BodID Bodd HBT 0.

176.

Which of the following village from India was selected by UNWTO as the best tourism
village under upgrading program for 2024?.

(1) Dhudmaras (2) Chitrakote

(3) Dhordo - (4) Pochampally

050.08.6225.83.5° 08 erssBFo K0d 2024 H05)0°A8MS VSRS T e
Q&)JéS‘zJ&SS G dorgbs. (rdoo?

(1) &r8508 | (2) DSES
3) & /m‘dow
177. First Asian Buddhist Summit was held at ‘
(1) Khatmandu -(2) Gangtak
(3) New Delhi | (4) Thimpu L
0S8 Do aao%f& K::bg‘S 28, PA
(1) grésods (2) mohess
;&rséé . : o (4) &ow

\\ll\\ll\\\l\|\\\l||\|l\|\l\ll\\l\ll\\\lllll\ | 418
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Confederation of Parties - 29 conference held
(1) Baku,Azerbaijan 11-22 Nov. 2024

(2) Baku, Azerbaijan 11-22 Oct. 2024

(3) Paris, France 11-22 Nov. 2024

(4) Kyoto, Japan 11-22 Oct. 2024
qwu&mvm el S -293 &a&oﬂu 20A58

(1) 11-22 $5026 2024, w26BSS ' 80

42 T1-22 806 2024, wabBarSS'd o

(3) 11-22 $S026 2024, |@rQ)S'Q B
(4) 11-22 o§wb 2024, 2335 85’

179.

Choose the incorrect pair regarding Maha Kumbh, 2025.

(1) Green Maha Kumbh : A National Level E ‘nvironmental U_mr:mv_o:

(2) Netra Kumbh : A massive eye care initiative to combat vision impairment.

(3) Bhashini: Akashvani’s initiative to broadcast news bulletins.

(4) Kumbh Sah ‘Al yak : Al powered multilingual and voice enabled chatbot.
Sogood 2025 S Homofod D05 2dl JX)Eod..

(1) &68 Sogde : wrboh Jons* Horgdde Bowod Soyy sTEgES00.

(2) IS oo : &y S'Tod H300WoE DG KD m&ﬁa s EgES0.

(3) ©ad : usITs AnE), TTBFS sEgESo.

%us Kumbh Sah ‘Al yak : 9o &5708 2I0zradr $20050 7000 I3 Feserds.

[T 2

180. Choose the incorrect pair regarding 70t National Film Awards.

(1) Best Non-feature Film - AYENA

(2) BestDebut Film ofa Director - MADHYANTARA

(3) BestDocumentary - RANGAVAIBHOGA

(4) BestAnimationFilm-A COCONUTTREE

70 3 =boH Sod AE vTROE HowoHoD VOFA 2EH J01E Bakod.
(1) B &S 26 26 - v

(2) BOLE g, BY O DADT - HEg08E —

(3) 2 u.?mmvoem - Goif IH°H

(4) B Sradas B - D FEIE B
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181. Match the following Padma Vibhushan awardees 2025 with their related fields.

a)  M.T. Vasudevan Nair i) An
b) D.Nageshwar Reddy ii) Medicine
¢) SharadaSinha iii) Public affairs
- d) Jagadish Singh Khehar iv) Literaturc and Education
e & BoB 2025 56 28rAS [rdo® T8 T70 Sorod’ adhdEed.
o -] e -1l
a) M.T. odds svadd i) E¥w
) b) D.add g i) dgo
c) @TEE DT i) PardonoFw
d) 2665 Dol '§;:L';5 iv) irdgo S80S0 D

The correct answer is :
HOGHH DICTTRD® ¢
(1) a-iv, b-ii, c-iii, d-i (2) a-iv, b-ii, c-i, d-iii
(3) a-i, b-ii, c-iv, d-ii (4) a-i, b-iii, c-ii, d-iv

182. Who among the following was nota winner of Sveriges Riksbank Prize 2024 in Economic

Sciences?
(1) Daron Acemoglu (2) Simon Johnson
(3) JamesA.Robinson (4) Victor Ambrose
L & §od T0e* &8 THoe* g0ED p§erof 208 2024 o FoBITE
4 - = o
(2) S AR

(1) o3S IS~
3) 3 .0°DIJN (4) 285 ©05*R

183. The World Boxing Federation’s Super Feather weight World title held on 5th Nov. 2024.

The Winner is

(1) Mandeep Jangra (2) Conor Mcintosh
(3) Roy Jones (4) - Vijendra Singh-
$%0w6 35,2024 S 2083 ISelN] 23‘5“)05_ WEOAS Jords a1 Bowds @PRo géf)é— NEE
(1) 565 =o (2) §a6 288D

(3) oo &Y 4 RS 2of

AV 38

e
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184. Match the following countries with the total number of medals they got in Paris Olympics
2024.
a)  Japan - i) 33
b) - China i) 126
c) USA iii) 91
d) Australia iv) 45
Eob Brol 8% 200bE 2024 & ©d FodS Ingo IEsTL Jopgs’ 2S838%08.
e -1 rHa - 11
a) 2> i) 53
by B& i) 126
¢) USA i) 91
O d) R iv) 45

The correct answer is :

HOGS BIrTHE

OO}
Pf;‘ P-9 Booklet Code

B

(1) a-iii, b-iv, c-i, d-ii (2) a-ii, b-iii, c-iv, d-i

(3) a-iv, b-iii, c-ii, d-i A adiv, b, cii, d-ii
185. Which of the following planet doesn’t have satellite?

(1) Mercury (2) Saturn (3) Jupiter (4) Earth

Eod S0t adiTro B fEsw 287

2050680 (2) ¥ (3) & 4)

186. The outer most range of Himalayas are known as

(1) PirPanjal (2) Shiwaliks

(3) The greater Himalayas (4) Purvanchal

rSrocirSt ©8god wrdry @ JB0Lrd?

(1) 6 oS @Y 3505w

(3) &S ridrodiren (4) FrogossS

187. Which of the following States has the largest wind farm cluster?
(1) Punjab (2) TamilNadu
(3) Haryana (4) Odisha

800 TAS* W& DG DO.S FER/E™ ééﬂ:ﬁ{é;{ﬁ&?
(1) Hoxrd SFT %
(4) 287

(3) Sogo

AR 1B
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188. Matchthe followihg.

List -1 List- 11
a)  TheNarmadariver i)  Hirakud Dam
b) 'ﬂlc lelmnaqi 1:ivcr i)  West flowing river
c) 'Ihc Godavari river iii) Brahmagiri Hills
d)  TheKaveririver : iv) Nasik
8ol T8 2EBEWS®.

e - ade - |1

a) SEo .:6&§<,§) odob argo

b) T S — i) H3)Srds DSwrod IO
c) fond :s&>’/\jii) A0 Fodeo

d) 536 &6 \jv) T8

The correct answer is :

¥0G0S JBrerddw ¢

(1) a-ii, b-iii, c-iv, d-i X adiii, b-iv, ci, dei
(3, b-i, c-v, dHiii M ai, beii, c-iv, dii
189. Which ofthe following river flows through arift valley?
(1) Krishna (2) Mahanadi (3) Tungabhadra (4) Tapi(Tapati)
Bob TS Brben S'a fhoar BBl 80 V&Y
(1) & (2) DoH*S0 (3) Soss e )
190. Which of the following port is also called as Deendayal port?
(1) Kandlaport (2) Mumbai port
(3) Chennai port : (4) Kolkata port
Bod LEBHOS* BID BISSTE L8609 0 ErEe Doddd?
) (2) Soowron LE0H
3) TP L6 (4) S6se LE8Y
191. From the following, choose the correct pair.
(1) YaradaHills — YSRKadapa ].)ist.rict
(2) Nallamala Hills - Srikaku'lan'l District
(3) Mogalrajapuram Hills — — NTR District
(4) Erramala Hills —  East Godavari District
Bod FS* JBS 2850 K80H0.
}4) oSrores Eode — YSRGS 2er
,./62) Sedoo Foden - jso¥o 2
Z3)y—THKS ormRdo Foded — NTR 2er
(4) dBSoe Foded - &r) HFordd 2eT;

[T | 58
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192. The difference between the birth rate and death rate of a country is called
(1) Artificial growthrate (2) Natural growth rate
(3) Negative growthrate (4) Scasonal growth rate
2§ o Bk, aiéé,/é:gia__'é_bo Sodsg o 556§ Q) DB DR O>?
(1) gyes 5B dw SR 52 B
@ Basro S)p do (§) serofon S) B

193.

Identify the pair which is not correctly matched.

(1) Flora - Plants of a particular region

(2) Soil Erosion - Gradual Removal of top layers of the carth

(3) Coniferous trees - Shrubs having needle shaped Ieaves

(4) Urbanization - Population shift from Urban to rural arcas

Bod TRAS* BB 2EHEE T HBoEos.

(1) Syferoo - wé @8gE (Fodos’ DBA Jngy o

(2) Bo EHEcDo - grd GnE, Do Eom Folosutio
3) é;)o.rT‘S‘d’@ Bbg - 30 85760 e.-s§_oc$o He >Gen

é(j)/'.’)égtffsrdea - Bzod dgEro Hob (rErof Sod IHdo

194

. Which layer of the Atmosphere is ideal for flying acroplanes?

(1) Troposphere (2) Stratosphere

(3) Mesosphere (4) Exosphere

TE 560506 J BS6nin ISrTw Bardosads 05I5H?
(1) '3 w5600 A2 st wiseo

(3) o es56w0 Mﬂ) ©56e0

195. The Right to Property is now found in this Article of Indian Constitution.
(1) Article 19 ' (2) Article 31
(3) Article 243 (4) Article 300(A)
T 6 oargofios” B0 sy T8y, & wREE00S* Lods,
(1) 1935 wpéboo (2) 3135 eb¥8mo
(3) 243 5 vwdECwo Mé w8800
196. The following fundamental right is granted to Indian citizens alone.
(1) Rightto Public Employment (2) Rightto Equality Before Law
(3) Right to Protection of Life - (4) RighttoFreedom of Religion
& (Bob @-dmg 7’.réob B8 DB SrEd S83008. '
/\m/@&és ac'greo BOF Ty, WY DSrIS5H T,
:(3)\ \reo GEed T, (4) S8 "«o‘sd‘) S8y,

[T 468
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Who is the successor of G.V. Mavalankar as speaker during first Lok Sabha?
(1)  GS.Dhillon (2) M.A.Ayyanger

(3) S.H.Singh (4) RabiRay

[0S S*EIY stwos® 2.9, 53‘@055’ Soares DYEM DY TS T
(1) =008, dens m&. wosgorrs
(3) oHSIS. Dok (4) sbD

198.

The Dlstnct of Rajasthan where Panchayat Raj System was introduced for the first time in
India on 2™ October, 1959.

(1) Bharatpur . (2) Banswara
(3) Nagaur (4) Hanumangarh

eS8 25 88, 19595 TaPSS' §od 2’ rEEBIoS” InaBIBT dowchs o
ég;&o ©3Foedod.

(1) S58%°8 Q) aSTd
Yy SF6 | L (d) FErSH6

The number of seats reserved for Scheduled Tribes in Lok Sabha is

NI aé:‘geg 8o 88 éé.roooo:ﬁa)&é FITo Dowg
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Which article of the Indian Constitution promotes the establishment of cottage industries

200.
in rural areas?
(1) Aurticle - 40 (2) Article - 46
(3) Article - 48 (4) Article - 43
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